


[ ARD - 2019/B ]

SET-B

2

1.

(A)

(B)

(C)

(D)

2.

(A)

(B)

(C)

(D)

3.

(A)

(B)

(C)

(D)

4.

(A)

(B)

(C)

(D)

5.

(A)

(B)

(C)

(D)

6.

(A)

(B)

(C)

(D)

7.

(A)

(B)

(C)

(D)

8.

(A)  

(B)  

(C)

(D)

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)
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11.

(A)

(B)

(C)

(D)

12.

(A)

(B)

(C)

(D)

13.

(A)

(B)

(C)

(D)

14.

(A)

(B)

(C)

(D)

15.

(A)

(B)

(C)

(D)

16.

(A)

(B)

(C)

(D)

17.

(A)

(B)

(C)

(D)

18.

(A)

(B)

(C)

(D)

19.

(A)

(B)

(C)

(D)

20.

(A)

(B)

(C)

(D)



[ ARD - 2019/B ]

SET-B

4

 21

21.

(A)

(B)

(C)

(D)

22. A, B, C, D E

D, C

B, E A, C

B, D E

(A) A

(B) B

(C) C

(D) D

23. + ÷

×

36 + 6 – 3 × 5 ÷ 3 = ?

(A)

(B)

(C)

(D)

24.

I II

(A) I

(B) II

(C)

(D)

I. 

II.

25. 358.085 + 42.91 + 25.55 = ?

(A) 425.565

(B) 426.545

(C) 426.555

(D) 425.545

26. (13.96)2 – (15.03)2 + (18.09)2 – 32.65 = ?

(A) 223

(B) 264

(C) 334

(D) 354

27.

(A)

(B)

(C)

(D)
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28.

(A)

(B)

(C)

(D)

29. X Y %

(A)

(B)

(C)

(D)

30. A B C

(A) %

(B) %

(C) %

(D) %

 31-32

A, B, C, D, E, F, G H

H, B

F A, C

F G, A

D, E

31. F

(A) H

(B) A

(C) G

(D) E

32. A

(A) C

(B) F

(C) B

(D) G

33.

(A)

(B)

(C)

(D)

34.

(A) 80

(B) 100

(C) 140

(D) 260
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 35-36

35.

(A)

(B)

(C)

(D)

36.

(A)

(B)

(C)

(D)

37.

(A)

(B)

(C)

(D)

 38

A, B, C, D E

C

E

D B

A

38.

(A) A

(B) D

(C) B

(D) C

39. A

B

(A)

(B)

(C)

(D)

40. A, B C

(A)

(B)

(C)

(D)
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41.

(A)

(B)

(C)

(D)

42.

(A)

(B)

(C)

(D)

43.

(A)

(B)

(C)

(D)

44.

(A) KB

(B) KB

(C) KB

(D) KB

7

45.

(A)

(B)

(C)

(D)

46.

(A)

(B)

(C)

(D)

47.

(A)

(B)

(C)

(D)

48.

(A)

(B)

(C) ALU

(D)

49.

(A)

(B)

(C)

(D)
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50.

(A)

(B)

(C)

(D)

51. MIPS

(A)

(B)

(C)

(D)

52.

(A)

(B)

(C)

(D)

53.

(A)

(B)

(C)

(D)

54.

(A)

(B)

(C)

(D)

55. C-DAC

(A)

(B)

(C)

(D)

56. +, – , = , # , @

(key)

(A) (key)

(B) (key)

(C) (key)

(D) (key)

57.

(A)

(B)

(C)

(D)

58.

(A)

(B)

(C)

(D)
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59. http

(A)

(B)

(C)

(D)

60.

(A) Ctrl + Shift + U

(B) Ctrl + D

(C) Ctrl + Shift + D

(D) Ctrl + U

61.

(A)

(B)

(C)

(D)

62.

(A)

(B)

(C)

(D)

63.

(A)

(B)

(C)

(D)

64.

(A)

(B)

(C)

(D)

65.

(A)

(B)

(C)

(D)

66. MOOC

(A)

(B)

(C)

(D)
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67.

(A)

(B)

(C)

(D)

68.

(A)

(B)

(C)

(D)

69.

(A)

(B)

(C)

(D)

70.

(A)

(B)

(C)

(D)

71.

(A)

(B)

(C)

(D)

72.

(A)

(B)

(C)

(D)

73.

(A)

(B)

(C)

(D)

74.

(A)

(B)

(C)

(D)
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75.

(A)

(B)

(C)

(D)

76.

(A)

(B)

(C)

(D)

77.

(A)

(B)

(C)

(D)

78.

(A)

(B)

(C)

(D)

79. (DEC)

(A) IGNOU

(B) UGC

(C) NAAC

(D) AICTE

80. MOOC

(A) Mass Open Online Company

(B) Massive Open and Online Courses

(C) Mass Online and Open Company

(D)

11
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81.

(A)

(B)

(C)

(D)

82.

(A)

(B)

(C)

(D)

83.

(A)

(B)

(C)

(D)

84.

(A)

(B)

(C)

(D)

85.

(A)

(B)

(C)

(D)

86.

(A)

(B)

(C)

(D)

87.

(A)

(B)

(C)

(D)

88.

(A)

(B)

(C)

(D)
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91. An assembly of listeners is :

(A) Atheist

(B) Crowd

(C) Audience

(D) Public

92. Antonyms of Epicurean is :

(A) providential

(B) ascetic

(C) slovenly

(D) imprecision

93. Synonyms of Edict is :

(A) vacate

(B) correction

(C) satisfy

(D) decree

In this section there are five short passages. Read

each passage and answer the questions that follow :

"Sit down" the principal said, but Mr. Tagde continued

to stand, gaining courage from his own straight –

backed stance, because he was beginning to feel a

little afraid now. The principal looked unhappy. He

disliked being forced to perform this sort of an

unpleasant task.

"I wish you consider withdrawing this report", he said.

"I am sorry, sir, I cannot do that" Mr. Tadge said. He

was pleased with his unwavering voice and

uncompromising word.

"It will be a very damaging report if put on record."

"It is a factual report on very damaging conduct."

"You are asking for the boys' expulsion from school.

Don't you think the punishment is too harsh for a few

boyish pranks"?

94. Mr. Tadge did not sit down because :

(A) he was angry with the principal

(B) he was in a defiant mood

(C) he did not like the student

(D) he was in a Hurry

89.

(A)

(B)

(C)

(D)

90.

(A)

(B)

(C)

(D)
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95. He would not withdraw the report because :

(A) He was arrogant and bitter

(B) it was an accurate report

(C) he wanted to create problem for the

principal

(D) he wanted to show his authority

Directions (Q. 96): In this question, a sentence has

been given in Active/Passive Voice. Out of the four

suggested alternatives, select the one which best

expresses the same sentence Passive/Active Voice

96. They will demolish the entire block.

(A) The entire block is being demolished.

(B) The block may be demolished entirely.

(C) The entire block will have to be demolished

by them

(D) The entire block will be demolished

97. When the Principal entered the class, a student

........ on the blackboard.

(A) wrote

(B) was writing

(C) writes

(D) is writing

98. In the following question, find the correctly spelt

word.

1. Reannaisance

2. Renaissance

3. Rennaissance

4. Renaisance

(A) 1

(B) 2

(C) 3

(D) 4

Directions (Q. 99-100): Select the proper prefix.

99. Editor

(A) bye

(B) sub

(C) joint

(D) be

100. Post :

(A) be

(B) out

(C) age

(D) on
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